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8  35  P1 

 

 

for one correct use of the given scale, 

 eg 40 ÷ 5 (= 8)  

or 28 × 52 (= 700) 

 

Can award these marks in 

either order 

   P1 

 

for process to use area of triangle,  

eg  
1

28
2

PQ QR=      

or  
1

area 40
2

PQ=    

 

[QR] must be clearly identified 

as the drawing length, and 

cannot be 40 

 

[area] must be clearly 

identified as the real area, and 

cannot be 28 

 

   A1 

 

cao 

 

 

 

 

9 (a) 7.25 B1 

 

oe  

 (b) No with supporting 

reason 

C1 No with supporting reason 

Acceptable reasons:  

No, the 9 should be recurring  

No, 7.3491 is greater  

No, there are numbers between 7.349 and 7.350 

 

Not acceptable reasons: 

Yes with any reason given 

Leila is correct … 

7.350 would round down 

She has rounded to 3sf and should only round to 2sf 

7.349 rounds to 7.4 

 

 

 

 




